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1. Ide.ntlflez et balancez les équations suivantes :
S Ja) A Fe +30y — }‘E‘ezOg
oo /b)) RAgNO; + MgCly .2 AgCl + Mfgi(NOg)g,T
| 4 HgO —» JHg + 02 *'v
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SV Ca® + H:O — Ca(OH):
O /k) o HCl + MnO: — Clp + MnClz +2H20
S VYY) ACsk) + Txs) — Q.CSI(S)
02 /m) A Ag(NOs) + H:S — AgeS +2 H(NOa)
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2. Equilibrez: les équations suivantes :
{1 dal + fHA — QAICK + 3H,
f2. Al+ B3NaOH — BNa +  AIOH)
4 3 JAOH) —»  ALO, + BHO
j 4 JNaOH + ALOs > ANaKIO, +  ILO
5 2 —> Naoh + ) AI(OH)s
£ xal

2 . Fes(Fe(CN)g)a +
J 7. CHuOs _, AGIHOH + ﬁ.coz
¥8  GHOH + 30, —RC0: + 3HO
Fo.Xcenord + 30, _,Aco, + Hmo
£ 10, CaC +AHO —» Ca(OH), + GH,
1. CcHi + RO, COp + A0
L. Qi + 0, —» Yoo, +
/3. 3m + N _, ANH: { |
/14 (NH)SO; + CaOHjz —» CaSO: + & NH; + &l H:O
v 15. 2 7ns + 3 0, __ &AZn0 + A SO,

16, CrOs + Al —»ACr +  ALOs
/17, X CylisCOONa +  Ca  _, ANa + (CirHzCOO0)Ca
v 18, AIOH); + 3HCA — AICL + KHO

19.9.CO + . TOs _ ¢ ‘b ) %
/20 Ni+ L co — Ni(CO)
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—
S 2ANH + CO, —»  (NILRCO +  H0 ke
‘B Fe0, + 3(:0 ;{Fe + 3 co,

H,f 24, . Gu + U HNOs —p i Cu(NOs) + &NO, + X H0

25qNH3 ‘50, gNo + 6 HO
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